N = 0l & At & Ml A

20202 = =0 &F LS MAIS

SN Mo
Ha: MOIS AR
Sl HYSXME HASY o BOAAL X CEEEED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
MOAS 425,300 275,120 150, 180
= 10,000
Al 415,300
MAIS At ZHI 356,540 196,000 160,540
< 10,000
Al 346,540
HESTHE LAY & HYAL X 290,200 148,010 142,190
< 10,000
Al 280,200
FOURMXEEH 29 70,590 63,050 7,540
201 Let24E] 13,050 13,050 0
01 At 22l 13,050 13,050 0
OFUXXNHH2Y Let==EH| 4,050,000 4,050
OfIa=¢ 30,0003 x25H x12& 9,000
301 LEPEXZ 57,540 49,200 8,340
09 HALAHIXI RS 3,000 3,000 0
OFLUXXEs AAEs & =NXEH A
(13l) 100,000& »25H 2,500
O E20dH 22 500,000& 500
12 JIEHE& = 54,540 46,200 8,340
OFQUXNX Zz ) A=Y 54,540,000 54,540
FOIEOALXA 209,610 67,960 141,650
201 LB-2dH| 29,910 27,360 2,550
01 At 2t 2l 9,660 8,110 1,550
OFAN ROBHAAEY 895 2,200,000& 2,200
OAagiotdzte] 22U 292
130,000& 12 1,560
OMd=Zx &t 1,000, 000& 1,000
O&d==J & Hld «Xtg S 2,500,000& 2,500
ogd - &Rl 50,000& +x12& 600
O3J1¥8&F)| gtz 50,0003 «3CH*12& 1,800
02 =224l 20,250 19,250 1,000
Osdll RAE= 2,250
-E49= 175,000& =128 2,100
A 150,000& 150
OXtg S Xul(2th) 7,000,000& 7,000
OdJIetdE3 3l & HIIBE ==&
300,000& 300
O&AL SXIHI 10,000, 000& 10,000
O¥stx 22 =HE 700,000& 700
203 AR E X 2,200 2,200 0
03 Al =X A2 =& 2,200 2,200 0




SA: MOS
Ha: MOIS AR

Sel: BISXME HASY L BIANL XY (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Odo1ES SELURAIMFA 2,200,000& 2,200
401 Al HIZ 201 8] 177,500 38,400 139, 100
01 A& HI 177,500 38,400 139, 100
OFAL AIE E=3 At 6,000,000 6,000
OMa1s =Z 2 Y 8,700,000& 8,700
O&J ¢4HEH 29 8,800,000 8,800
OEM 28 ¥ 35 32 2H 20 SA
20,000,000& 20,000
OdME XIE &X 90,000, 000& 90,000
OBM SHY 2= A 22,000,000& 22,000
OFAMN FXNE BEE=E Wi SA
22,000,000& 22,000
MO1ES ZSMZAE X 10,000 0 10,000
< 10,000
401 AIEHI L 201 10,000 0 10,000
< 10,000
01 A& HI 10,000 0 10,000
OZGNMZAE &X 10,000, 000& 10,000
< 10,000
sclety gs=24 64,690 46,490 18,200
SClgEasE4 N 64,690 46,490 18,200
301 LA F 64,690 46,490 18,200
05 8% -0 -tHESEHS 64,690 46,490 18,200
Oos&d=+¢ 300,000& =13 «12& 46,800
OsH&NH= 300,000 13 23] 7,800
Os&soas=g 20,0003 «13F #2353« 128 6,240
Ot asl 50,000& 77 *13] 3,850
SEE =2X ZF F 1,650 1,500 150
SEsd =X 22 1,650 1,500 150
201 L2l 600 0 600
02 =224l 600 0 600
OCHEXIZO0I(ABIERX) S&Z(3U)
600,000& 600
202 Oddl 1,050 1,500 A 450
01 = LH o4 1l 1,050 1,500 A 450
OXEE =XgR =& oyl 1,050,000& 1,050
HE2IZH (MHIS) 68,760 79,120 A 10,360
J2ZH(MAH1S) 68,760 79,120 A 10,360
23 (4AH18) 68,760 79,120 A 10,360
201 Let24E] 35,400 35,400 0
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